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Factor each of the following:

1) 3x* -15x? +24x’ 2) 18 a’b® + 27ab? - 36ab

) (1 '
2o (52-5x+?) Qab (226 +35-1)
3) -21rt - 49 r* - 35r't 4) 6 xy? + Tx2y + 2y

= (3PS Y G + >
W (36 3 _ed) N ( Xy +C +1L

Simplify then Factor:

1)2x°-5x+7 +6x> +x+1

= 2)\3-0—0\3 =Sxd X 7\ +)
= g -4 +8

4(LC-2+Z )

2) -7ny 5n2y +2ny ny ny -12ny

“BRY -y’ +2ay —\any

Aoy (=305 ey 4 )
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Prime factorization of 120

Hint: Product of primes
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Polyn mials
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Monomial 1 . term

&) Binomial 2_ s terms

Trinomial R “terms


http://www.youtube.com/watch?v=DjvmLDas_8w&feature=channel
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Terms are separated by “+” and “-“ signs.
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& How many terms?
4x-5y+q @
5(x-3y) @)
3x-4 @

8}
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0\)93 - How many terms?
OO (olleck like derms

3X+4y-5X-2y+X

3K =9+ +4y -2y

-Ix +2y %
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Simplify:

2% -7 +£3x" -5y :2=2x

= 3t -2xt +2% & -11-

T X -3k -9 I_é
&
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w&\:\w\ A\

3.7 Multiplying Polynomials




Expand and ¢

OWS.
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£

—5x7—x-5)
2% =10 - 2% =10y
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mﬁx\

43xy+Tx—5)~3(2x +5xy—1)
laxy 178620 Jex 150 3
- 3&3 +23¢x - I



Chapter 3 Day 5_ Expand and Simplify.notebook October 03, 2019

Numbers, Relations & Functions 10 Name

Mutilpying Polynomials Date

Find each product.

¢ D sl6s+3) DX ¢ 2) 8(6r+3)

7"( 3) 2(8x + v) S 4 smnl3m+2n)

* 5) 7(x—7y) * 6) 2mnl8m — 2n)

7) (4x - 2y)(6x + 6y) &) (6x+3y)(4x — 7y)

9) (2x + 53)(7x — 8y) 10) (3x + 6)(5x — 8)

11) (5x — 4y)(5x" — 40+ 637) 12) (8x — 7¥)(6x° + 8xv + 33°)
13) (6a* —2a—3)(8a+2) 14) (2k% + 8k—2)7k+4)

15) (7a® —2ab +28°)(a® — 2ab — 85°) 16) (x? — 4oy + 207 )x* — 22— Ty7)
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